STEP ITUP! (17)

NAME
9+6= 15 12+9- 2] w-2-12 g8x9=72 8x || =88 35:5- 7
5+6= || 16+3=19 16-u= |2 gxth=32 8x20=160 LO:u-=10
7+9= 16 11+7=18 11-u=7 8x6=48 |00 x8=800 16+8= 2
10+4= 4 13+9=22 18-5= 13 gx8=64 8x50=-uw0 27 +3-9
3+1= 1% s5+1=19 13-6= 7 8x7=56 |2 x8=96 L4 ~2-7

NUMBER ¢ PLACE VALUE FRACTIONS & DECIMALS

You can make equivalent fractions by doubling
the numerator and the denominator.

Calculate these products.

@ Lx25= |00 @ 5x20= |00 Write equivalent fractions for these.
Lx27= |08 sx23= ||5 al 4 8
is the same as is the same as
3 6 12
o 6x30= 180 o 8x20- |60
3 6 12
6x29= I7L|. 8x18= |44 is the same as 8 is the same as 6
L
E Draw a dot array then write the fact family
< to match.
§ O0O0O0000O0 v 8 56 MONEY & FINANCIAL MATHEMATICS
X =
g 00000000 B Calculate the total cost in your head.
< 8 8 8 8 8 8 8 8 8 x 7 -56 Write a number sentence to show your thinking.
w
OO0OO0O0O0O0O0O0 . -
l?: 00000000 26« 7 -8 +=$q-l+3
j |°°°0°c0°000 |56 8 - 7 $7 + $1.95 + 5¢ + 43¢
<=
6 % b - 2b
2.99 -
O0000O0 L 6 - oL +@—$ 8.38
X =
560000 $5 +$2.99 + Ic + 38¢
O0O0O0OO0O 246 -4
24 - 4 - 6 . &£ -: 047
E Complete these. $3 + $698 + 2C + I+7C
3738 L 8 6 267 5L 3
352 | 391 | +uL5 | +295 - 5197 - s11.05 IERICKep)
/30 | 877 /12 | 838 $I1 +$1.97 + 3c + 2¢

The numerator in a fraction is the top number. The denominator
is the bottom number or the total number of equal parts.




X Answers will vary. This is one example.

MEASUREMENT & GEOMETRY

UsiNG UNITS OF MEASUREMENT

* tower that has 7 cubes
in each layer.

H Draw the base of a

Then complete the
table below to match.

Number of Number Total number
cubes in base of layers of cubes
7 1 7
7 3 2|
7 5 35
7 7 e
7/ 9 63

Draw a quadrilateral and a pentagon
* that cover the same number of squares.

SHAPE

B Two prism bases are shown below.
* Complete each drawing.

GEOMETRIC REASONING

n Write A next to all the acute angles.
Write R next to all the right angles.
Write O next to all the obtuse angles.

a. Write 3 numbers in each of the L parts Numbers from 100 to 300
* of the Venn diagram.
b. Write how you would describe the numbers b Divisi
in the overlapping part of the circles. 6@\)\’“ o oible 6,
C. . o° 177 150 ~¢
They are all odd, divisible 135
by 5 and between |00 - 300. >3] L5 290
c.  Write how you would describe the numbers | |5
outside the circles. 2qq 220
They are even numbers, divisible by
5 and between 100 — 300. 212 198 127
What is the next number in this pattern? >
Colour one
64 53 L2 31 20 ? bubble. ,
19 @ O n o
PARENT/CARER SIGNATURE DATE




X Answers will vary. This is one example.

STEP ITUP! (18))

NAME
6+7=13  50+50=100 18-6= 12 8x7=56 3x3=9 w=-10= L
3+11= |4 30+70=l100 11-2= 9 6x8=48 2x7= |4  36:9- L
9+8= 1/ 60+70=130 1-9-5 11x8=88 3x7=2| 20+10= 2
s+t= 12 80+90-=170 12-3- 9 Lx7=28 5x7-35 u5:9- 5
7+3=10 70+20=90 19-7= |2 7x5=35  6x3- |8 72:9= 8
NUMBER & PLACE VALUE Complete these facts.
Write the value of the red digit. ° c00000000
E 2L dots 36 dots
3608 6 hundreds 5961 6 tens ] altogether altogether
1175 4+ thousands 3827 2 tens 6 « b 24|l b « 9 -36
8110 8 thousands 4106 6 ones 24-6 -L [|36: 9 - L
6290 9 tens 3702 / hundreds
MONEY & FINANCIAL MATHEMATICS
3999 9 ones 8217 / ones , o
Write the missing amounts.

E Write the number in each box. Money in Terall casn Amount
§ wallet left over
s 9330 — $120 $67.50 $52.50
g < 9300 $200 $160.50| $3950
< $50 $16.15
” 9250 — $33.85
& «— 9230 $150 $86.20 | $63.80
% 9200 $63 $L3.L5 $19.55
= < 9160 70 32.65
=3 o — $ $32. $37.35

9100 ¢
PATTERNS & ALGEBRA
< 9070 v
c?O5C) — H Write = or = for each.
<— 9000 6+4+5 = 3x5 6x7 F# 39-7
8950 — I8q20 18+2 # 20-12 18+19 # Lx9
8900 1 Lx8 F 20+L+18 72+8 = 3x3
8850 — 3890 20-14 = 30+5 63+9 = 3+l
8800 3+L+5 F 30+3 L8 +L F 2x7

The (=) symbol means is the same as or is equal to.
The (#) symbol means is not equal to.




X Answers will vary. This is one example.

UsiNG UNITS OF MEASUREMENT
H Draw the hands on the clock.

2
~
£
Q
S
w
5
3
&
3
3
W
S

@)

Eat breakfast Do homework
Go to bed Leave school 3 IO

E Work out the total mass.

e T¥6|| )

250 g 500 g 330 g

115 g

365 ¢
830 o
580 ¢
6l5 ¢

e. Which 2 items add to make % kg?

apples oranges

a. Apples and mushrooms
b. Oranges and bananas
c. Bananas and apples

d. Mushrooms and oranges

f.  Which item is 5 kg? oranges

LOCATION & TRANSFORMATION

n Draw 2 shapes that have more than 1 mirror
* line. Then mark all the mirror lines.

’
N\

1
¢
1
1
t
N
e,

N

- — o — —o—

N
.

Y
=7
s

'
1
1
*
1

N
- o— —— - ® — —e— — & — -

N
1

1

?

1

L

[ ]

L]

- — —o—

Imagine you take a toy car out of this box
without looking.

=",
A

® ey,
=y
- oo

Nr™
Lo oY

Write colours to describe the toy cars. *

a. Blue

b. Yellow isthe most unlikely.

is more likely than ~ green .

It is impossible to draw a black car.

c.
d. Red and gFeen are equally likely.
e. B|ue is the most likely.

Look at this spinner.

6

(44
g Which letter is least likely? Aq% Cgs’g’glztwe’
3 A B C D V v
= O O e O db
PARENT/CARER SIGNATURE DATE




X Answers will vary. This is one example.

STEP ITUP/(19)

NAME
mw+1=28 18-3-15 20-13-7 2 x8=16 90x2=|80 su:9=-6
3+18= 2| |6 —u=12 19-6= |3 Lxu= |6 6x70=-420 81:9- 9
17+17=34% 13-11= 2 2u-23 =1 2 xu=8 3x50= |50 63+9= 7
13+13=26 17-15-2 19-13- 6 8x6-48 2x70- IHO ws:9- 5
19+19=38 10-6=4 26-8-=18 8x 8 =e 7x90=630 27:9= 3

8
W
Q
<
<
w
n
S
S
=

NUMBER & PLACE VALUE
Write the number that is 10 000 more.

10 986 1042l
E» o05% 10 30
It 321 17 808
19 999 1019

E Complete the expanders to show the different
ways to describe 30 000.

3™ o]ololo
3o ®ololo
3]olo o]0
3lololo o]
3lololo]o F

a. Use all the digits.
Write the greatest number possible.

6,0,1,7,9 97 610 581,23 85432
1,9.3,26 96 321 0291 94 210

b. Write the bt numbers in order from least
to greatest.

85432 94 210 96 32| 97 6l0

Name 2 places you would see 5-digit numbers.

X

a.  The price tag for a car.

b. The attendance at a grand final.
E Complete these.

378 L8 9 619 555
156 | -247 | -205 | -331
222 | 242 L |4 22|

FRACTIONS & DECIMALS
n Write the fraction that is shaded.

PATTERNS & ALGEBRA

Write the missing numbers to make the balance
pictures true.

36 23

To calculate the distance around a shape (perimeter), add the side lengths.

Use compatible pairs to make the addition easier.




X Answers will vary. This is one example.

USING UNITS OF MEASUREMENT m Calculate the distance around each shape.

E Convert these distances.

9m
953 cm q m53cm 8|L|'cm 8m 1k cm L m Q
701em 7 o | em q03cm 9m3cm
21
910 cm C?m |O om L|'|5cm Lm 15cm IS M
o
n Look at this calendar. 25 m
b N
o Octobe 0 5m
-~
g S|M|T|W|Th|F|S
N 30 | 31 1 Q- 26
\j
o 2|3 |4 |5]|6|7]|8 - 17 .
\5 9 110111213 14|15
g 1611711811920 |21 |22 SHAPE
)
g 23|24 | 25|26 |27 (28|29 a. Draw 2 quadrilaterals, a circle, a polygon
Y * and a hexagon to create a picture.
q -
g a. How many days in October? 3'
b. What date is the last Thursday? 27th
c.  How many Sundays in this month? 5 < H >
d. What day was 18 October? TueSday \ Q @ /
e.  What day was 30 September 20117 Frid ay
b. Label the shapes as shown below.
f.  What day was 1 November 2011? Tuesday P = polygon Q = quadrilateral
C = circle H = hexagon
Bean Bag Throws
Use the graph to complete this table. Mitchell
Names Distance Sarah
Thomas 8 m| 5 ,
i i) Emily
Charlie / Ll B
. Charlie
Emily 6 m
Thomas
Sarah [
. 0 2 L 6 8 10 12 14 16 18 20
MltChe" |L|. m Distance in metres

Look at the calendar in Question 9. >
What is the date of the Lth Sunday in October? Colour one
bubble.

) 16th ) 2nd (D 9th ® 234

TESTER

PARENT/CARER SIGNATURE DATE




STEP IT P! (20

NAME
9+8=17 18-7- |1 1u-8-6 3x5= 15 8x 3 =2 ugsu-= |2
122+12=24 11-8=-3 19-1=5 6x8=48 Lxs8=32 u:3-8
L+8= 12 w-u=]10 18-6= 12 9x7-63 9 xu-36 w:2- 7
18+18=36 20-12- 8 15-7- 8 7x6=42 8x5-4O 21:7=- 3
5+13= |18 18-11= 7 9-u= 5 2x8=16 8x | =8 12:u- 3

NUMBER & PLACE VALUE
Loop the numbers that are less than 100 away

from 10 000.

8980 9020 9890

9508 9001

E Loop the numbers that are less than 1000 away

from 10 000.

-

8900 8312

§ Write all the other factors.

Q

w

© 8L 72 96

3 1, 8 1, 72 1 . 96

w

% 2 X L|'2 2 X 36 2 X L|'8

% 3 x28 3«24 3 x32

: IR
6 x4 612 6«16
7 x 12 8 x99 8 xI2

Use all the digits.

Make the greatest number possible.
0,1,892 98 210 81,1,7,0 87110
0,2,7,1,0 72 100" 7,403.9 97430
1699099 6l0 21615 65 42|

Draw beads on the abacus to show the number.
Then write the number.

fifty-nine thousand,
three hundred and sixty-one

59 36l

TTh Th H T Ones

31 247

thirty-one thousand,
two hundred and forty-seven

TTh Th H T Ones

nineteen thousand,
one hundred and eighty-nine

19 189

TTh Th H T Ones

MONEY ¢ FINANCIAL MATHEMATICS

n Calculate the total cost.

Buy L.

=

Buy 3.

Total = $ IOOO Total = § quo

An acute angle is less than a quarter turn, a right angle is the same as a quarter turn
and an obtuse angle is greater than a quarter turn but less than a half tumn.




X Answers will vary.

UsiNG UNITS OF MEASUREMENT

Measure and label the dimensions in cm.

LR T R T el S e
LN, TR SR T S e ]

LN T Bl B S e B )
L » ]

n Measure and label the dimensions in mm.

25mm

2
-
g 2' mm
Q
9
w |C? mm
5
g GEOMETRIC REASONING *
g Draw a quadrilateral to match each label.
S
2 I — 1 right angle, 2 acute angles,
g B Convert these measurements. 2 obtuse angles 1 right angle
1
1em @ 2 cm 5w
1
omm - 3 2 L5 o
%M 90 | BN 850
0em 900 mm | 19em 000 mm
Title:
a. Measure and record the length of me
* 6 different shoes. Shoe 6
Shoes Length (cm)
Shoe 5
Shoe 1
Shoe 2 Shoe L
Shoe 3 Shoe 3
Shoe L4 Shoe 2
Shoe 5 Shoe 1
Shoe 6 0 5 10 15 20 25 30
b. Use the data to complete the graph. Length (cm)
=4 Sarah has saved $268. She wants to buy a bicycle for $625.
% CVrite your answer
E How much more money does she need to save? $ 357 inthe box.
PARENT/CARER SIGNATURE DATE




STEP ITUP! { 21)

NAME
16+3+7=26  21-u=17 19-7-12 7x7=49 5 «g-uw0 3:2-8-L4
12+6+8=26 21-8=13 17-u=13 3x8=24  5x.-20 18+3= 6
17+u+6=27 21-7=14 8-6=2 7x6=28 2 x7-1 wm-6=-L4
19+7+1=27 21-5=-16 12-7-5 Lx3=12  5x6=30 LW-5-8
1849+1=28 21-2-19 13-9-L 7x9=63 5 x2-10 27:9-3
NUMBER & PLACE VALUE Double and halve the factors.
Add 1200 to each number. Then write the answers.
IEEZD 32472 I BEXY 22 210 5 » 16 280 | 4 . 256
14 701 ISC?OI 66 666 67866 is the same as is the same as
- - IO 8 -80 8 «7 -56
KD 525 [EXDD 55 05
18« 5 90 25 « 6 |50
98 59' LI-8 OIZ is the same as is the same as
EXID 3287 [EEP30545 9 .10 90|50 » 3 -I50
3| 20L|' 20 070 B Calculate these products.
“&: E Write these numbers in words. L 30— |20 5 20 - |OO
§ Eﬁ);-tv\(/jo thdo:sang, four 5. 20 Y
52 L21 _
2 ANATEC AN TNENTONE L @ uuss= 140 | @ 542130
W
g 7x|+0=28o 9><20=|8O
3 seventeen thousand, two 35 >7
hundred and one kil kil
@ 7x15= 315 @ 9x23=207

a. Use all the digits. Make the least
number possible.

1,8,7,0910 789 7,u1,28 12478
3,0,1,2,010 023 197,821 12789
b. Order the lk numbers from least to greatest.
0023 10789 12478 12789

PATTERNS & ALGEBRA

u Write the missing parts in these patterns.

L6, 56,66, 16,86 ,96 106, 116 126
3x3,3xL, 3XD ,3x6 ,3x7 ,3x8
122312231, 2, 2,3, |
97,91,85, 19 , 73 67,61 ;55 49 43

, 2

You can double and halve the factors in a multiplication problem to make the
multiplication easier. For example, when you see 8 x 15 think 4 x 30 or 2 x 60 is 120.




usiNG UNITS OF MEASUREMENT n Write these times.

thirty-five minutes past 10 10:35

" IOOO m e ZOOO mt thirteen minutes past 8

% - 500 " 5 S uarter past 2 E
241-2500m. | 331-3500, erere 215
% L= 250 mL 20 minutes to 6

1
| 57 L = 1500 mL

Convert these measurements.

b N

\E E Calculate the totals. LOCATION & TRANSFORMATION

W N

3 & m s X

AV} B l + ' 750 il L[] P X

w e ..

N 500 mL 250 mL 3 N

3 I l 2 XX

& Omb 125 mk A B CDETFGH I

N

5 '"l * Colour these squares red: D5, G3, C5, BL.

3 " ' g | 750 mL e Draw a green X one square north of EL.
E

25.-O-Im|_ 250 mL 250 mL * Draw a red X one square east of Hu.

* Draw a blue X one square north-east of C1.

2 I% + I L Redraw the shape to show a flip to the right.
\J/ L 21

500mL  500mL 500 mL

. . y . ° .

. . . .

I + ] + ﬂ L 4 ° ° ° °
A >, \
250 mL 200 mL 50 mL . . o o | .

Use the table to answer these questions. Maximum Temperatures
a. The hottest day in Week 1 was Wednesday. e hiieeide
F d Monday 2L°C Monday 28°C
b. The coldest day in Week 2 was riaay Tuesday 26°C Tuesday 31°C
c.  The coldest Thursday was in Week I . Wednesday 31°C Wednesday 33°C
d. The difference in temperature
° Thursd 27°C Thursd 29°C
between both Tuesdays was 5 C. Hrsay ursdoy
Friday 25°C Friday 26°C

e. Which week was hottest overall? Week 2

Which of these has the same value as 14 x 5? ¥
60+8+L 107 100-20 100 + 10 ( Colour one 4
- p
O (] O O

PARENT/CARER SIGNATURE DATE




STEP ITUP! (22)
13+8+7=28 23-u1=19 26-1=12 6x10=60 11x 8 -8 u2:6= [
7+12+8=27 23-10= |3 19-u= |5 9x6=54 exu=24 99:11=- 9
M+u+9=24 32-6=-26 17-|5 =2 10x10=100 7 x6=u2 36-6= 6
1B+u+7=24 w-34-7 1w-5-9 3x9=27  6x8=-48 w-6- L
6+4+15=25 18-m=L4 23 -5-18 3x10=30 11x | =11 33-11= 3

NUMBER & PLACE VALUE

write the new number.

Draw beads on the abacus to show the number.
Then add one bead to the digit that is red and

E Write the numbers just before and just after.

Double each number.

48 8
9 IR s

17 8L7 28 601
40 522
Calculate the cost of buying 5.
% 5x30= |5O Total
TTh Th H T Ones TTh Th H T Ones
® $35 x5 =
New number New number >3 25 $ |75
| 7848 29 60| o | 5m-100 T
& 21304 82526
Q
) 5x7= 35 ¢ |35
3 7
- 5x L0 =200 Tt
: - PEVIRE:
g TTh Th H T Ones TTh Th H T Ones
g New number New number % 5 x 50 =25O Total
fa
3| 304 82 626 /"2 s« 2 - 10 s 260

FRACTIONS & DECIMALS

Iq 3L|.I Iq 3L|.3 E Draw lines to connect equivalent fractions
29 80l 29 803 '
L5 259 L5 26|
68 399 68 LOl
31798 31800
72599 /2 60|
19 999 20 00|

You can use a place-value strategy to multiply.

For example, when you see 6 x 23 think 6 x 20 plus 6 x 3is 120 + 18 = 138.




X Answers will vary. This is one example.

USING UNITS OF MEASUREMENT n Calculate the area of each shape.
H Complete the table. [

3
Container I i !
— A

500mL | 250mL | 100 mL 50 mL

-

Number

needed to LI- 8 20 '+O

make 2L

Calculate these amounts.

O - 30 squares Q- 22 squares
ﬁ e= 35 squares
w 2L

' 250 mL SHAPE
Total = IZSO mL | Total = '-I-OOO mL Draw a net
[ ]

MEASUREMENT & GEOMETRY

[
L.J 600 mL 300 mL
Total = ISOO mL | Total = IZOO mL LOCATION & TRANSFORMATION

Draw a shape that has exactly 4 mirror lines.

B Draw lines to connect matching amounts.

+ .

N ’
|

N, 7/
« ¢ A
N e

*,
1100mL | {500 mL| [250mL| [200mL| [750mL| = -

N
- —o— o —o—
i~

[ ]
L]
. L] L] L] L] L]
(] ] ] [ ] ] [ ]
L] L] L] ] L] L]
KN
AN
-
4
s
L] L] L] L] L]

Flw
—
al|—
—
No|—
—
Fl=
—

a1
ol . .

Draw lines to show the likelihood of each event.

Snow in summer Flip heads on a coin You will sleep tonight The sun will rise Milk in the fridge

.\\

I I
Impossi i Even Charge Likely Certain

Win lotto Dog riding a bike A house number being odd All homework correct

Which picture shows a three-quarter turn clockwise? >
Colour one
r r J r 3 r bubble. ,

- ) ) L

PARENT/CARER SIGNATURE DATE




STEP ITUP!(23)

6+ 6 =12 8+ 8 =16 12-9-33  9x6=54 ux 7 =28 21:3= 7
3+ /7 =10 13 +u=17 35-9-26 ux8=32 3 x7=21 u:u=6
549-1 L 4v6-10 20-9-12  3x7-2l 7x 7 w9 30:10- 3
3 +8-11 2+ 1 -9  18-9-39  7xe-42 5 x7-35 28:u- 7
M+ b -15 9+ 9 -18 7-9-58  exu=-24 | x7=7 w=:5-8

NUMBER & PLACE VALUE
Write each number. 25
eighteen thousand, Total = @)

|8 63' six hundred and thirty-one

twenty-one thousand, @@
2' 2|9 two hun)élred and nineteen /
Total = 230

T 10w [ g
forty-four thousand, MONEY & FINANCIAL MATHEMATICS
Ll-Ll- 300 three hundred H Calculate the cost of these buys.
E Add 198 to these numbers.
| 167 || 3u8 || 182 || uo2 |
5 [l Gubegalseatill
] 365 546 380 600 patewes e
g Add 349 to these numbers.
| N |
499 648 75+ 500 | 565 665|| 347 547
§ Halve these numbers. + | 0]0) +7q +2OO + I 8

ED>x BB EPDua | 065 || M 565
m 6L|. 65 37 Total = $ 7L|'L|‘ Total = $ 565

B Loop together the pairs that are easy to add.
% % 565 765|| 347 U7
&)  Tow= 160 +200 _+I8|| +l00 +79

/765 783 L7 526
@ Total = IZO Total = $ 783 Total = $ 526

You can use compatible pairs to make addition easier. For example, when you see
52 + 13 + 28 + 37, add the pairs that are easy (52 + 28 and 13 + 37) first.




X Answers will vary. This is one example.

UsiNG UNITS OF MEASUREMENT SHAPE
a. Write L things you do in the a.m. time period. n Draw 2 different nets that will fold to make
* ik brea k‘FaSt a square-based pyramid.

get dressed

go to school

have recess/morning tea

b. Write L things you do in the p.m. time period.
X eat lunch
do homework
play with my brother
eat dinner

GEOMETRIC REASONING

Look at the angles that are marked.
E Write the time. Then loop a.m. or p.m. Write the number of each type.

shoes on
for school ’ p-m.
. shower
5

MEASUREMENT & GEOMETRY

et 10:20 E—

morning tea p-m.

acute |3 right 6 obtuse

M W
Draw a line to connect each town to the = o999
temperature shown in the table. ;_
E St. Kilda
Town Temperature (°C) —
Cloncurry 33 = Devonport
Devonport L - 10
Yulara 35 g_ Cloncurry
St. Kilda 2L N °
Yulara
Wagga 28
J >
Write your answer
65300 65 L00 65 500 in the box. ,J

What number is the red arrow pointing to? 65 6‘?0

PARENT/CARER SIGNATURE DATE




STEP IT UP! { 24)

NAME
7 +3=10 16+24-u0 w-6=8 7x11=77 30x8=240 12-3- L
7+6= 13  26+3=-29 11-3- 8 8x7-56 60x7-420 30:5- 6
3+18= 2| L2 +18=60 20-1= 6 7x2= |4 8xuww0=320 27:3= 9
Ly 6 =10 3m+8=L42 s-wm- L 6x7=42 70x5-350 uw:11- L
8+10= |8 65+ 15 =80 2v-13= || 7x7=49 3xuw0- 120 16:u- L

8
W
Q
<
<
w
ny
S
S
=

NUMBER & PLACE VALUE
Write the numbers 1000 more and 1000 less.

60 532,28 L+0I{83 29149 325

1000 less

61532 29LO1 8L 291 50325
1000 mere |62 532|30 L4+0OI|85 291|51 325
E Write the numbers in the boxes.
13 300 T
13 250——1
13 100 +
T<— 13050
12 900 +
Je—
2 800——1 12 850
12 700 T
T 12600
12 500 -
245071 2100
12 300 T
T 12200
12100 T

Find the difference between these scores.

3L2 points 136 points f§ 407 points 725 points

342 pp) 725 305
=60 3¢ || 00 _7

242 — 325 ——
Difference = 206 Difference = 3 I 8

MONEY ¢ FINANCIAL MATHEMATICS

Calculate the total cost of the groceries.

$IL4+.70 + 30c
+ $13.10
$ 28.10

and BYERNY Total =

$12.80 + 20c
+ $21.50
$s34.50

$12.80 LR $21.70

Total =

$2540 + $lI
+ 50c
$36.90

$25.L.0 FLLl $11.50

Total =

$13.10 + $7
+ 80c
$20.90

Total =

PATTERNS & ALGEBRA

B Cross out the number that does not belong
in each pattern.

6 9 121%, 15 18 21 24 27
25 50 75 100 )/1( 125 150
1550 2550 }5«6 3550 4550 5550

10000, 8000 = 6000 /5060/ _ L00O 2000

9’18127136’)/1 L5 5k 63 72 81

You can use a place-value strategy when adding dollar-and-cent amounts.
For example, when you see $18.30 + $1:2.50 think $18 + $42 + 30c + 50c = $60.80.




MEASUREMENT & GEOMETRY

usiNG UNITS OF MEASUREMENT

H Show the times and loop a.m. or p.m.

Ten minutes past twelve
in the afternoon

Quarter past seven in

the morning

Twenty minutes to two
in the afternoon

Twenty-five minutes past
six in the evening
a.m.

Write the total time in 2 different ways.
65 minutes

I hour 5 minutes

Footy training L0 mins

Swim squad 25 mins

Ride bike 38 mins 80 minutes
Mow grass L2 mins

e I hour 20 minutes
Bath 19 mins 7L|' minutes
Shoppin 55 mins

P I hour |L|' minutes
Make bed 5 mins 62 minutes
Homework L7 mins

I hour 2 minutes

LOCATION & TRANSFORMATION

E Draw the reflection on the other side
of the mirror line.

Fishing Competition

Complete this picture graph to show the same data.

tite: Fishing Competition @<= 1ofish

Sandy
Tom
§ St
=] eve
g e
§ Tina «
Kelly . L € _¢
Jim (@ @@
0 5 10 1520 25 30 35 LO L5 50 55 60 65 70 Sandy ~ Tom  Steve  Tina  Kelly  Jim
Number of fish Com petitor
Which words best describe this angle? >
. Colour one
() right angle @ ccute angle ( bubble. » |
() obtuse angle () quarter turn
PARENT/CARER SIGNATURE DATE




STEP IT LIPY (Forpw

NUMBER & PLACE VALUE
Write the number and the number words.

2 | isthe é T isthe i
sixty-three 3 | sameas | 9 2 | sameas | 10
thousand, four 51 wee 91 51 ene [6
0 same as same as
hundred and thirteen L 12 6 12
63 413 - M - c
5

B Write equivalent fractions.

_© | isthe S| isthe | O
. 10 | same as 5 | sameas | 10
thirteen thousand,
one hundred and MONEY & FINANCIAL MATHEMATICS
SiXt)/'ﬁve n Calculate the total cost of each buy.
|3 |65 Buy L. Buy 2.
E Draw a line to the correct place :ﬂ
on the number line. -
/ ;':?@
3 I
w T
g Total = $ 18.00 Total = $ /5.30
W -/___ Calculate the total cost.
& 15 900 1
: ' fem
S
=2 Double and halve to solve these.
hone and speakers and laptop and
5w s 90| s k290
is the same as is the same as |77 5q5 5q5
30x 3 -90 10x 9 -90 +100 +100 +100
277 695 695
8 x 35 =280 6 x 25 = |50 +63 +77 +63
is the same as is the same as
s 340 s 172 s /58
Lt «70-280 3 x50 -150
FRACTIONS & DECIMALS PATTERNS & ALGEBRA
Write the fraction that is shaded. E Cross out the part that is incorrect in each pattern.
5 : 5,10’201|+O,)50/,8011601320’6|+0
12 """ 2 3470 = 3370 & 3270 )26{ 3170 = 3070
L SR - 6 9 16 23 30 3 37 w51 58 65
8 122' 'I'I9' 116 'I'|3' 'I'IO’ 107’)@3/




X Answers will vary. This is one example.

UsiNG UNITS OF MEASUREMENT

n Convert these lengths.

a Write the digital time and loop a.m. or p.m.
t Wake up before sunrise
b3
§
p.m.
W (10
-
E Fireworks display
3
S .
v | BAC) R
w
L3
Match the times.
< minute < hour
27 days 30 seconds
30 minutes 1% minutes
90 seconds 60 hours

Draw a different
* shape that has the

same ared.

SHAPE

Two prism bases are shown below.
Complete each drawing.

/
<

LOCATION & TRANSFORMATION

Write the colour of these grid squares.
3
2
1

A B CDETFGH

r2= yellow H1- purple as- green

GEOMETRIC REASONING

5 Loop the obtuse angles.

NP

Colour the spinner

* to match the label.

Yellow and blue have
an equal chance.

Yellow is more likely than red.

Green is unlikely.

Use the graph to complete the table.

Temperatures
Argyle
.E Yarra
§ Roma
ot Bega
Paloona
0 2 L 6 8101214161820 22 24
Degrees (°C)
Locations Degrees (°C)
Argyle 2'

Yarra 8
Roma Iq
Bega |L|-

Paloona 1






